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Eumie - Table 3 Entrance Examination Scores of 100 Entering Freshmen

762 451 602 440 570 553 367 520 454
433 508 520 603 532 673 480 592 565
712 415 595 580 643 542 470 743 608
566 493 635 780 537 622 463 613 502
618 581 644 605 588 695 517 537 552
340 537 370 745 605 673 487 412 613
548 627 576 637 787 507 566 628 676
442 591 735 523 518 612 589 648 662
663 588 627 584 672 533 738 455 512
544 462 730 576 588 705 695 541 537
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682
470
750
512
622
563

OMLGEAL \s 1o extidcd  USEFUL  UFdMATIo) Flat T Dada

( DVescube / Sw\y\Am@e\

Mo MEe0s - T \igoaud
T NuemeA Lt

T VWALLT ¢ et / QUA(NG Tt HIS(oGIA M
-n

"

Relative
frequency 1"

Frequency

20(.20

15

10

0 2995 399.5 4995 599.5 699.5 799.5
349.5 449.5 549.5 6495 749.5

Entrance examination scores
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The mean of 4 numbers is 90. If the mean of the first three numbers is 88, find the fourth
number.

Xir X4 X,

4 qo - Bb
L 3
X ¥ Ko & X+ K = 4[10)=360
. ; j 9 x‘+x1*x}-,3(w)zle¢,‘
Y ¥ Ky = 260
Xqg 16

Example. Suppose [ buy 20 gallons of gas at an average price of $2.4.0/gallon, and you buy (O
gallons of gas at an average price of $2.10/gallon. Together, what is the average price per gallon
that we’ve paid for gas?

[luds- 1.\0 « LUV :®.m*®}w . 725
'3 L
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$750
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Example. Suppose you have a homework grade of 90, and quiz grade of 85, and an exam grade of 80.
[f homework counts for 20% of your grade, the quiz counts for 35% of your grade, and the exam
counts for 45% of your grade, caleulate your average for the class.

Example. lt costs a shipping company $8.75 to ship a small package overnight. Suppose the
shipping company charges a flat rate of $19 to ship a small package overnight, and if the package is
late they refund the full amount. If 93 % of all packages are delivered on time, what is the average
profit per package that the shipping company earns?



L. Menian

Arrange the data in order from least to greatest.

[f the number of measurements is odd, then the median is the
number in the middle position.

6.6, 1 1 '3 3 4

T
MeDIAp

If the number of measurements is even, then the median i the
mean of the two numbers that share/straddle the middle position.
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Blood cholesterol levels. Find the mean and median for the
data in the following table.

Blood Cholesterol Levels
(milligrams per deciliter)

WE ASHO AL MEAMEMENIS 1y CACy

Mo Interval Frequency MEAW M ead Clhss / B0 Al Ewar % 146 /ﬂo?alkﬂ
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In Problems 11 and 12, find the standard deviation for each set of
grouped sample data using formula (5) on page 525.

11. Interval Frequency
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